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and this is the y axis (what a surpri
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and this s the y axis (what a surprise!)

Lower y axis (degrees Celsius)
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I hate opposite axes
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and this is the y axis (what a surprise!)

I mean, | REALLY hate opposite axes
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Less ticks, please My tick marks, please, and remember that Romans did not know about 0
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A logarithmic x axis... but | dislike scientific notation
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Making lower and upper axes different
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This is the x axis.

My choice of font sizes and tick lengths
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So many data sets, so little time
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A logarithmic x axis
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Playing with grids and axes thicknesses and linestyles
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Distinguishing each data set (only the beginning of this story)
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A legendary example Life without color is boring Hysterical histograms
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Some new symbols And some more A kaleidoscopic plot
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An indian plot in a western movie Writing text at the desired coordinates All the available symbols
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I also wanna do stuff my way In many countries (e.g. Spain) a comma is used for the decimal sign
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Choosing contours (3)
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Choosing contours (1)




Only black contours Changing the thicknesses and styles of the lines
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A legendary plot, part 3 A zebra plot
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We align the plots
S—

F \ \ \ 7 F T w ‘ -
1500 j i 1500 j i
E ]
1000 ; é 1000 ; é

E ]
500 ; é 500 ; é
250 ; : 250 ; :
o t | I ] 0 t | | I ]
o 25 50 75 100 o 25 50 75 100

One regular plot and one contour plot, side by side

A zero value for aspect uses the natural aspect ratio of the first graph
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We manually adjust the graphs
positions and character sizes
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Maximizing graph area (option 2, "circling the wagons" supersedes xc, yc, xsize, ysize)
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Forcing the number of x and y graphs to be something other than the default
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